This meeting is being held via telephonic attendance.

AGENDA GENERAL ADMINISTRATION & PERSONNEL COMMITTEE VILLAGE OF HOFFMAN ESTATES November 9, 2020

Immediately Following Planning, Building & Zoning Committee

Members: Karen Arnet, Chairman

Karen Mills, Vice-Chairman

Gary Stanton, Trustee Anna Newell, Trustee Gary Pilafas, Trustee Michael Gaeta, Trustee Mayor William McLeod

- I. Roll Call
- II. Approval of Minutes October 12, 2020

NEW BUSINESS

1. Request approval of an ordinance authorizing the sale of personal property owned by the Village of Hoffman Estates (auction items).

REPORTS (INFORMATION ONLY)

- 1. Cable TV Monthly Report.
- 2. Human Resources Management Monthly Report.
- 3. Legislative Operations & Outreach Monthly Report.
- III. President's Report
- IV. Other
- V. Items in Review
- VI. Adjournment

The Village of Hoffman Estates complies with the Americans with Disabilities Act (ADA). For accessibility assistance, call the ADA Coordinator at 847/882-9100.

GENERAL ADMINISTRATION & PERSONNEL COMMITTEE MEETING MINUTES

October 12, 2020

I. Voice

Members in Attendance:

Karen Arnet, Chair Karen Mills, Vice-Chair Gary Stanton, Trustee Anna Newell, Trustee Gary Pilafas, Trustee Michael Gaeta, Trustee Mayor William D. McLeod

Management Team Members

in Attendance:

Rachel Musiala, Acting Village Manager Dan O'Malley, Deputy Village Manager Arthur Janura, Corporation Counsel Peter Gugliotta, Director of Dev. Services

Patrick Seger, Director of HRM Mike Hankey, Director of Trans. Jennifer Horn, Director of Trans. Patti Cross, Asst. Corporation Counsel Kevin Kramer, Economic Dev. Director Ric Signorella, CATV Coordinator

The General Administration & Personnel Committee meeting was called to order at 7:19 pm.

II. **Approval of Minutes**

Motion by Trustee Gaeta, seconded by Trustee Mills, to approve the General Administration & Personnel Committee meeting minutes of September 14, 2020. Voice vote taken. All ayes. Motion carried.

NEW BUSINESS

Request approval of a resolution in support of the Village of Oak Brook's 1. opposition to Graue Mill Dam removal.

An item summary sheet from Rachel Musiala was presented to Committee.

Motion by Trustee Gaeta, seconded by Trustee Pilafas to approve a resolution in support of the Village of Oak Brook's opposition to Graue Mill Dam removal. Voice vote taken. All ayes. Motion carried.

Request approval of an ordinance authorizing the sale of personal property 2. owned by the Village of Hoffman Estates (auction items).

An item summary sheet from Matthew Galloway was presented to Committee.

Motion by Trustee Gaeta, seconded by Trustee Pilafas, to approve an ordinance authorizing the sale of personal property owned by the Village of Hoffman Estates (auction items). Voice vote taken. All ayes. Motion carried.

REPORTS (INFORMATION ONLY)

1. Cable TV Monthly Report

The Cable TV Monthly Report was received and filed.

2. Human Resources Management Monthly Report.

The Human Resources Management Monthly Report was received and filed.

3. Legislative Operations and Outreach Monthly Report.

The Legislative Operations and Outreach Monthly Report was received and filed.

III. President's Report

Mayor McLeod reported that he attended the EOC meeting on October 6 and swore in FF Ian Rose. On October 7, Mayor attended the NWMC Executive Board meeting and a bench dedication for organ and tissue donors at St. Alexius. On October 8, Mayor attended the 4th of July Commission meeting as well as the CAC butterfly garden event on October 9. Mayor McLeod attended a wedding of Vicky and Joe Anderson. On October 12, Mayor attended a Wings event.

- IV. Other
- V. Items in Review
- VI. Adjournment

Motion by Trustee Stanton, seconded by Trustee Gaeta, to adjourn the meeting at 7:23 p.m. Voice vote taken. All ayes. Motion carried.

Minutes submitted by:			
Debbie Schoop, Executive Assistant	Date	1	

COMMITTEE AGENDA ITEM VILLAGE OF HOFFMAN ESTATES

SUBJECT:

Request for approval of an ordinance declaring Village property

surplus and permitting the sale of personal property owned by the

Village.

MEETING DATE:

Nov. 9, 2020

COMMITTEE:

General Administration and Personnel Committee

FROM:

Matthew Galloway, Management Analyst – Fire

......

PURPOSE:

Approval of an ordinance declaring Village property surplus and

permitting the sale of personal property owned by the Village,

utilizing online auction.

DISCUSSION:

The Village is required to declare surplus all property deemed no

longer necessary, useful to, or in the best interests of the Village to

retain prior to properly disposing of such property.

BACKGROUND:

In the past, the Village has been able to dispose of surplus property by way of online public auction and live auction so as to reduce waste and derive any further value in the form of revenues to the extent possible. Surplus items not sold at auction can then be

properly disposed of or recycled.

FINANCIAL IMPACT:

The sale of Village surplus items is expected to generate marginal

revenues from the online auction.

RECOMMENDATION:

Approval of an Ordinance authorizing the sale of personal property

owned by the Village, per the attachment.

ATTACHMENTS:

1

VILLAGE OF HOFFMAN ESTATES

AN ORDINANCE AUTHORIZING THE SALE OF PERSONAL PROPERTY OWNED BY THE VILLAGE OF HOFFMAN ESTATES

WHEREAS, in the opinion of at least three-fourths of the corporate authorities of the Village of Hoffman Estates, it is no longer necessary or useful to or for the best interests of the Village of Hoffman Estates to retain ownership of the personal property hereinafter described; and

WHEREAS, it has been determined by the President and Board of Trustees of the Village of Hoffman Estates to sell said personal property at a public auction to be held on the internet auction website www.publicsurplus.com.

NOW, THEREFORE, BE IT ORDAINED by the President and Board of Trustees of the Village of Hoffman Estates, Cook and Kane Counties, Illinois, as follows:

Section 1: That pursuant to 65 ILCS 5/11-76-4 of the Illinois Revised Statutes, the President and Board of Trustees of the Village of Hoffman Estates find that the described personal property attached as Exhibit "A" now owned by the Village of Hoffman Estates, is no longer necessary or useful to the Village of Hoffman Estates and that the best interests of the Village of Hoffman Estates will be served by its sale.

Section 2: That pursuant to 65 ILCS 5/11-76-4, the Village Manager is hereby authorized and directed to sell the aforementioned property now owned by the Village of Hoffman Estates at public auction at the internet auction website www.publicsurplus.com, to the highest bidder of said personal property.

Section 3: That the Village Manager is hereby authorized and directed to advertise the sale of the aforementioned personal property in a newspaper published within the community not less than ten (10) days before the date of said public auction.

<u>Section 4</u>: That no bid which is less than the minimum price set forth in the list of property to be sold shall be accepted.

<u>Section 5</u>: That the Village Manager is hereby authorized and directed to enter into an agreement for the sale of said personal property.

Section 6: That upon payment of the full auction price, the Village Manager is hereby authorized and directed to convey and transfer title to the aforesaid personal property to the successful bidder.

Section 7: That if said personal property is not sold at such auction, then the Village Manager is authorized to sell without bid or properly dispose of or recycle any such property.

Section 8: That the Village Clerk is hereby authorized to publish this ordinance in pamphlet form.

Section 9: That this ordinance shall be in full force and effect immediately from and after its passage and approval.

PASSED THIS	_ day of		, 2020		
VOTE	A	AYE	NAY	ABSENT	ABSTAIN
Trustee Karen V. Mills	-			<u></u>	
Trustee Anna Newell	_				
Trustee Gary J. Pilafas	_				
Trustee Gary G. Stanton	_				
Trustee Michael Gaeta	_				
Trustee Karen Arnet	_				
President William D. Mo	Leod _	- 			
APPROVED THIS	DAY OF		, 2020		
			Village Presi	dent	
ATTEST:					
Village Clerk					
Published in pamphlet fo	rm this	day of _		, 2020).

EXHIBIT "A"

Title	Mileage	VIN	Running Condition	Engine	Transmission	Starting Price
2014 FORD EXPLORER BLACK	123,000	1FM5K8AR0EGA76114	yes	3.7	auto	3,000
2008 FORD EXPEDITION WHITE	135,000	1FMFU165X8LA67380	yes	5.4	auto	1,000
2011 FORD EXPEDITION WHITE	115,000	1FMJU1G58BEF36776	yes	5.4	auto	1,000
2003 International 4400 with Snow & Ice Equipment	64,000	1HTMKAAR43H565097	yes	DT466E	auto	5,000
2009 Ford Ranger	128,000	1FTYR14DX9PA44233	yes	2.3	auto	2,000

VILLAGE OF HOFFMAN ESTATES

Memo

To:

Dan O'Malley / Rachel Musiala

From:

Ric Signorella

Regarding:

Cable TV Report

Date:

November 1, 2020

Citizen Segments

This month the Citizen covers: Children's Advocacy Suicide Awareness & Prevention Video, Pie on the Sky Ribbon Cutting, Ian Rose Firefighter Swearing-In Ceremony and the Holiday Inn Express Ribbon Cutting.

Citizen Segments and Programs in development:

Economic Development/Tourism Video(s)

WOW Arena Drive-In PSA & CG Slides Updated Weekly

Get a Flu Shot Vaccine Video

Schaumburg & Hoffman Estates Branch Library Programs Airing on HETV

MLK Jr. Compilation Video

Veterans Day Compilation Video

Harvest Luncheon Compilation Video

Sister Cities French Evening Compilation Video

Tree Lighting Compilation Video

Economic Development Virtual Set Video(s)

Bell Works Progression Tour Video

CAC Butterfly Garden Brick Promotional/Contribution Video

Cup of Casey Arts Commission Video

HHS Clinical Supervisors/Internship Interviews Video(s)

Schaumburg Township & Hoffman Estates Branch Library Kids & Adults Library Programs

Are now airing and will continue to be updated every week.

HRM Wellness Fair Video(s)

Are now airing for Village employees.

Celtic Fest Concerts

Are now airing.

Celtic Fest Compilation Video

Is now airing.

Hispanic Heritage Fiesta Compilation Video

Is now airing.

Platzkonzert Compilation Video

Is now airing.

Mind, Body & Yoga

Overview covering Statistics, Unique Health Needs Mindful & Gratitude Exercise and a Yoga video.

Hideaway Shows: Modern Day Romeos / True Duo Concerts / Mike Hayes / Hawaiian Luau Dancers

Are now airing.

Sports & Concerts

HETV is rebroadcasting high school sports, high school concerts as well as summer sounds on the green.

Complaints/Inquiries

There were two new complaints from a residents; one required a cable to be buried that is running along several yards, the other resident was not receiving specific channels. There are no outstanding inquiries.



HUMAN RESOURCES MANAGEMENT DEPARTMENT

Monthly Report

October 2020

Staffing Activity

New Starts: 4 – Firefighter/Paramedic

Cable TV Assistant Weekend ASO (20

Westerna 1150 (2)

Separations: 2 - Crossing Guard Community Service Officer

Transfers: 0

Retirees: 2 - Police Lieutenant

Fire Inspector

Promotions: 0

Reclassifications: 0

Change in Status: 0

Staffing: Full Time Employees 338 budgeted 321 current

Part Time Employees 74 budgeted 75 current Temporary Employees 0 budgeted 2 current Seasonal Employees 21 budgeted 0 current Paid Interns 6 budgeted 3 current

Month & Year-to-Date Activity:

0 Seasonal with 12 for year 0 Promotions with 18 for year 2 Separations with 34 for year 2 Retirements with 19 for year

0 Transfer with 02 for year

Recruitment Activity

Maintenance I Facilities PM Shift - PW

The position was posted internally and externally. No internal applications were received. The interview team reviewed the external applications and recommended six applicants for interviews. The candidates are being contacted to schedule interviews in November.

Weekend ASO I -Police

The position was posted on the Village website, social media, and Indeed job board. Applications were reviewed by the interview team. Seven candidates were skills tested and interviewed on September 10th & 11th. Two candidates were offered the positions. They both accepted and are completing pre-employment screening. They started on October 8th.

Crossing Guard Whiteley School – Police

The position was posted on the Village website, social media, and Village broadcast email. A sign was placed outside of the school at the crossing. Applications will be forwarded to the Police Sergeant for review as they are received. One interview was scheduled on October 20th. An offer was accepted and the candidate is completing pre-employment screening.

Crossing Guard Lakeview School – Police

The position was posted on the Village website, social media, and Village broadcast email. A sign was placed outside of the school at the crossing. Applications will be forwarded to the Police Sergeant for review as they are received.

Maintenance II Crew Leader Forestry & Traffic Ops - PW

These positions were posted internally. No internal applications were received. Applications are automatically forwarded to the interview team for review. Deadline is 11/04/2020.

Cable TV Assistant - General Government

Previous Cable TV Assistant moved back to the area, it was requested and approved to rehire to currently vacant position as he is already trained and available to start immediately. After completing pre-employment screening, he started on October 26th.

Labor/Management Relations

Contract Status:

Police (Metropolitan Alliance of Police - MAP Chapter 96) Contract (Jan. 1, 2019 - December 31, 2021).

Fire (International Association of Firefighters - Local 2061) Village received the Union's demand to bargain on successor agreement and bargaining meetings will be scheduled.

Public Works (International Brotherhood of Teamsters, Local 700) Contract (Jan. 1, 2020 – Dec. 31, 2025).

Police Sergeants (Metropolitan Alliance of Police – MAP-97) Contract (Jan. 1, 2020 – December 31, 2022).

Grievances

N/A

Personnel/Benefits/Employee Services

- As staff liaison to the Cultural Awareness Commission, the Director of HRM attended the monthly meeting virtually.
- The Director of HRM participated in Emergency Operations Committee meetings.
- The Director of HRM participated in conference calls with Northwest Suburban Human Resources Directors related to COVID-19.
- The Director of HRM attended the Fire Pension Board meeting as a member.
- The Director of HRM participated in Management Team meetings.
- HRM staff hosted three Wellness Screening Events.
- HRM staff continued began the Annual Open Enrollment process online.
- HRM staff participated in webinars on the Families First Coronavirus Response Act and Collective Bargaining Trends.

Risk Management/Safety/Loss Control

- The Risk Manager spent a percentage of time working on issues related to COVID-19.
- Continued to facilitate the proper handling of all open workers' compensation claims.
- Conducted a mandatory random Federal Department of Transportation drug and alcohol test. There was no positive result.
- Updated the Village's Safety Policy and distributed it with a \$5 Starbucks card to all employees to increase safety awareness since the Safety Lunch was cancelled this year.

- Conducted tele meetings with staff related to high exposure workers' compensation claims.
- Coordinated the Village's insurance renewal with the SLIP pool and Alliant Brokerage Services. The insurance market has turned quite hard in the last several months.
- Met with staff from the Fire Department again to discuss utilizing an alternate vendor for annual physicals. The vendor has been scheduled to start Fire Department physicals in 2020.
- Coordinated the administration of several litigated liability claims being handled by the Village's third partly claims administrator.
- Continued to provide consultation related to risk management issues related to the Now Centre.
- Provided written updates to appropriate management staff related to the status of several open workers' compensation claims.

Director of Human Resources Management

HUMAN RESOURCES MANAGEMENT MONTHLY STAFFING REPORT OCTOBER 2020

RECRUITMENTS

POSITION TITLE:

Maintenance I Facilities PM Shift

DEPARTMENT: DATE POSTED: Public Works 09/24/2020

AD DEADLINE:

10/08/2020

STATUS:

APPLICATIONS REC'D: 66 application received

The position was posted internally and externally. No internal

applications were received. The interview team reviewed the external applications and recommended six applicants for interviews. The candidates are being contacted to schedule interviews in November.

POSITION TITLE:

Maintenance II Crew Leader Forestry (internal recruitment)

DEPARTMENT: DATE POSTED:

Public Works 10/28/2020 11/04/2020

AD DEADLINE:

APPLICATIONS REC'D: 0 application received to date

STATUS:

The position was posted internally. Applications are automatically

forwarded to the interview team for review.

POSITION TITLE:

Maintenance II Crew Leader Traffic Ops (internal recruitment)

DEPARTMENT:

Public Works 10/28/2020 11/04/2020

DATE POSTED: AD DEADLINE:

APPLICATIONS REC'D: 1 application received to date

STATUS:

The position was posted internally. Applications are automatically

forwarded to the interview team for review.

POSITION TITLE:

Crossing Guard (1 opening - Whiteley School)

DEPARTMENT:

Police Dept. 09/22/2020 until filled

DATE POSTED: AD DEADLINE:

APPLICATIONS REC'D: 2 applications received to date

STATUS:

The position was posted on the Village website, social media, and Village broadcast email. A sign was placed outside of the school at the crossing. Applications will be forwarded to the Police Sergeant for review as they are received. One candidate was interviewed on October 20th. An offer was accepted and the candidate is completing

pre-employment screening.

POSITION TITLE:

Crossing Guard (1 opening – Lakeview School)

DEPARTMENT:

Police Dept. 10/21/2020

DATE POSTED: AD DEADLINE:

until filled

APPLICATIONS REC'D: 1 applications received to date

STATUS: The position was posted on the Village website, social media, and

Village broadcast email. A sign was placed outside of the school at the

crossing. The application is being reviewed by the Traffic Police

Sergeant.

NEW STARTS

POSITION TITLE: Weekend ASO I (2 openings)

DEPARTMENT: Police

 DATE POSTED: 08/12/2020

 AD DEADLINE: 08/31/2020

APPLICATIONS REC'D: 72 applications received

STATUS: The position was posted on the Village website, social media, and

Indeed job board. Applications were reviewed by the interview team. Seven candidates were skills tested and interviewed on September 10th & 11th. Two candidates were offered the positions. They both started

on October 8th.

POSITION TITLE: Firefighter Paramedic

DEPARTMENT: Fire **DATE POSTED:** N/A **AD DEADLINE:** N/A **APPLICATIONS REC'D:** N/A

STATUS: One new Firefighter started with the Village on October 6th.

POSITION TITLE: PT Cable TV Assistant General Government

DATE POSTED: N/A AD DEADLINE: N/A APPLICATIONS REC'D: N/A

STATUS: Previous Cable TV Assistant moved back to the area, it was approved

to rehire to vacant position. After completing pre-employment

screening, he started on October 26th.

SUMMARY OF EMPLOYMENT ACTIVITY OCTOBER 2020

	Total Number	<u>Position</u>
New Starts	4	Firefighter Paramedic Cable TV Assistant Weekend ASO (2)
Separations	2	Crossing Guard Community Service Officer
Promotions Upgrades	0	•

Downgrades	0	
Transfers	0	
Retirements	2	Police Lieutenant Fire Inspector
Reclassifications	0	•
Status	0	

ANTICIPATED ACTIVITY NEXT MONTH

	Total Number	Position
New Starts	0	
Separations	0	
Promotions	2	Police Sergeant
		Police Lieutenant
Transfers	0	
Reclassifications	0	
Change in Status	1	PT to FT ASO I
Retirements	4	Deputy Fire Chief
		Director of Trans/Engineering
		Battalion Chief
		Executive Assistant
New Positions	0	
Eliminated Position	s 0	

2020 EMPLOYEE COUNT

	Budgeted	<u>Actual</u>
FULL TIME EMPLOYEES	338	321
PART TIME EMPLOYEES	74	75
TEMPORARY EMPLOYEES	0	2
SEASONAL EMPLOYEES	21	0
INTERNS (PAID)	6	3
TOTAL	439	401

Total Vacancies:

Full Time

Budgeted – Posted Maintenance I Facilities PM
Maint. II Crew Leader (2)

Budgeted - Not Posted Police Officer (6)
Police Lieutenant

Part Time Budgeted – Posted

Crossing Guard (2)

RECRUITMENT ACTIVITY

	<u>Month</u>	Year To Date
Full Time – Response to Recruitments	24	665
Part Time – Response to Recruitments	3	415
Seasonal Applicants	0	17
TOTAL	27	1097

HUMAN RESOURCES MANAGEMENT EMPLOYMENT ACTIVITY OCTOBER 2020

		· •	
NEW HIRES Name Ian Rose Sophia Khodan Angela Tribuzio Steve Eisen	Date of Hire 10/06/2020 10/08/2020 10/08/2020 10/26/2020	Position Firefighter Paramedic Weekend ASO Weekend ASO PT Cable TV Asst.	Replacement for Ray Ritter Abi Flannigan Isa Lambrecht Amy Senior
SEPARATIONS Name Mark Mueller Mary DeMaria Scot Neil Enrique Cervantes	Termination Date 10/09/2020 10/19/2020 10/30/2020 10/31/2020	Position Police Lieutenant Crossing Guard Fire Inspector CSO	Reason Retired Resigned Retired Resigned
PROMOTIONS Name N/A	Effective Date	Current Position	New Position
TRANSFERS Name N/A	Effective Date	Current Position	New Position
CHANGE IN STAT Name N/A	<u>FUS</u> <u>Effective Date</u>	Current Position	New Position
RECLASSIFICATI Name	ION Effective Date	Current Position	New Position

UNPAID INTERNSHIPS/ADDITIONAL ACTIVITY

Name Effective Date Position Reason

ADDITIONAL MONTHLY REPORT INFORMATION OCTOBER 2020

# Anniversaries	3
# Interviews conducted during month	_1_
# Orientations conducted during month	3

Year	Code	Description	(Claim Cnt	% of Total	Med Only	Comp	Legi	% of Lgl	Open	Clsd	Avg Cost/ Claim	Paid	Outstanding	Total Incurred	% Of Total
97	804	Forestry	(Dept)	1	100.0%	0	0	1	100%	1	0	204,543.20	130,777.38	73,765.82	204,543.20	100.0%
97	8	Public Works	(Sub-Loc)	1	100.0%	0	0	1	100%	1	0	204,543.20	130,777.38	73,765.82	204,543.20	100.0%
97	01	Village of Hoffman Estates	(Loc)	1	100.0%	0	0	1	100%	1	0	204,543.20	130,777.38	73,765.82	204,543.20	100.0%
		Totals for 199	7 Claims:	1	100.0%	0	0	1	100%	1	0	204,543.20	130,777.38	73,765.82	204,543.20	100.0%
00	102	Planning	(Dept)	1	1.8%	1	0	0	0%	0	1	0.00	0.00		0.00	0.0%
00	1	Community Development	(Sub-Loc)	1	1.8%	1	0	0	0%	0	1	0.00	0.00		0.00	0.0%
00	206	Customer Service	(Dept)	1	1.8%	0	0	1	100%	0	1	3,974.20	3,974.20		3,974.20	1.3%
00	2	Finance	(Sub-Loc)	1	1.8%	0	0	1	100%	0	1	3,974.20	3,974.20		3,974.20	1.3%
00	250	PPO Payments	(Dept)	1	1.8%	1	0	0	0%	0	1	152,127.86	152,127.86		152,127.86	49.1%
00	25	PPO Payments	(Sub-Loc)	1	1.8%	1	0	0	0%	0	1	152,127.86	152,127.86		152,127.86	49.1%
00	300	Administration	(Dept)	1	1.8%	0	1	0	0%	0	1	193.50	193.50		193.50	0.1%
00	301	Fire Suppression	(Dept)	12	21.4%	6	3	3	25%	0	12	7,922.89	95,074.64		95,074.64	30.7%
00	303	Emergency Medical Service	(Dept)	7	12.5%	5	1	1	14%	0	7	2,302.35	16,116.43		16,116.43	5.2%
00	3	Fire	(Sub-Loc)	20	35.7%	11	5	4	20%	0	20	5,569.23	111,384.57		111,384.57	36.0%
00	400	Manager's Office	(Dept)	1	1.8%	0	1	0	0%	0	1	4,452.45	4,452.45		4,452.45	1.4%
00	401	Cable TV	(Dept)	1	1.8%	1	0	0	0%	0	1	260.40	260.40		260.40	0.1%
00	402	Boards & Commissions	(Dept)	1	1.8%	1	0	0	0%	0	1	413.43	413.43		413.43	0.1%
00	4	General Government	(Sub-Loc)	3	5.4%	2	1	0	0%	0	3	1,708.76	5,126.28		5,126.28	1.7%
00	600	Administration	(Dept)	1	1.8%	0	1	0	0%	0	1	0.00	0.00		0.00	0.0%
00	6	Human Resources Manage	(Sub-Loc)	1	1.8%	0	1	0	0%	0	1	0.00	0.00		0.00	0.0%
00	700	Patrol	(Dept)	16	28.6%	13	1	2	13%	0	16	1,761.71	28,187.36		28,187.36	9.1%
00	704	Traffic	(Dept)	1	1.8%	1	0	0	0%	0	1	1,159.40	1,159.40		1,159.40	0.4%
00	. 7	Police	(Sub-Loc)	17	30.4%	14	1 .	2	12%	0	1.7	1,726.28	29,346.76		29,346.76	9.5%
00	801	Water & Sewer	(Dept)	4	7.1%	2	2	0	0%	0	4	733.76	2,935.02		2,935.02	0.9%
00	802	Building & Grounds	(Dept)	1	1.8%	0	1	0	0%	0	1	1,411.10	1,411.10		1,411.10	0.5%
00	804	Forestry	(Dept)	5	8.9%	5	0	0	0%	0	5	565.72	2,828.60		2,828.60	0.9%
00	805	Clerical	(Dept)	1	1.8%	1	0	0	0%	0	1	452.50	452.50		452.50	0.1%
00	8	Public Works	(Sub-Loc)	11	19.6%	8	3	0	0%	0	11	693.38	7,627.22		7,627.22	2.5%
00	9	Information Systems	(Sub-Loc)	1	1.8%	1	0	0	0%	0	1	168.50	168.50		168.50	0.1%

Year	Code	Description		Claim Cnt			Comp	Legi	% of Lgl	Open	Clsd	Avg Cost/ Claim	Paid	Outstanding	Total Incurred	% Of Total
00	01	Village of Hoffman Estates	(Loc)	56	100.0%	38	11	7	13%	0	56	5,531.35	309,755.39		309,755.39	100.0%
		Totals for 200	0 Claims:	56	100.0%	38	11	7	13%	0	56	5,531.35	309,755.39		309,755.39	100.0%
01	300	Administration	(Dept)	2	3.1%	1	1	0	0%	0	2	538.72	1,077.44		1,077.44	0.1%
01	301	Fire Suppression	(Dept)	8	12.3%	3	3	2	25%	0	8	35,023.68	280,189.41		280,189.41	23.7%
01	303	Emergency Medical Service	(Dept)	7	10.8%	2	1	4	57%	0	7	38,418.72	268,931.02		268,931.02	22.7%
01	304	ESDA	(Dept)	1	1.5%	1	0	0	0%	0	1	425.39	425.39		425.39	0.0%
01	3	Fire	(Sub-Loc)	18	27.7%	7	5	6	33%	0	18	30,590.18	550,623.26		550,623.26	46.5%
01	400	Manager's Office	(Dept)	1	1.5%	1	0	0	0%	0	1	4,374.81	4,374.81		4,374.81	0.4%
01	4	General Government	(Sub-Loc)	1	1.5%	1	0	0	0%	0	1	4,374.81	4,374.81		4,374.81	0.4%
01	505	Immunization	(Dept)	1	1.5%	1	0	0	0%	0	1	391.50	391.50		391.50	0.0%
01	5	Health & Human Services	(Sub-Loc)) 1	1.5%	1	0	0	0%	0	1	391.50	391.50		391.50	0.0%
01	700	Patrol	(Dept)	20	30.8%	11	2	7	35%	0	20	10,615.24	212,304.82		212,304.82	17.9%
01	702	Crime Prevention	(Dept)	1	1.5%	1	0	0	0%	0	1	5,663.17	5,663.17		5,663.17	0.5%
01	704	Traffic	(Dept)	3	4.6%	1	0	2	67%	0	3	2,887.00	8,660.99		8,660.99	0.7%
01	707	Records	(Dept)	4	6.2%	1	0	3	75%	0	4	14,372.31	57,489.25		57,489.25	4.9%
01	7	Police	(Sub-Loc)	28	43.1%	14	2	12	43%	0	28	10,147.08	284,118.23		284,118.23	24.0%
01	800	Streets	(Dept)	5	7.7%	3	1	1	20%	0	5	48,719.89	243,599.47		243,599.47	20.6%
01	801	Water & Sewer	(Dept)	4	6.2%	2	1	1	25%	0	4	24,096.40	96,385.58		96,385.58	8.1%
01	802	Building & Grounds	(Dept)	3	4.6%	3	0	0	0%	0	3	422.63	1,267.88		1,267.88	0.1%
01	803	Equipment & Supply	(Dept)	1	1.5%	1	0	0	0%	0	1	210.60	210.60		210.60	0.0%
01	804	Forestry	(Dept)	3	4.6%	2	1	0	0%	0	3	1,150.17	3,450.50		3,450.50	0.3%
01	8	Public Works	(Sub-Loc)	16	24.6%	11	3	2	13%	0	16	21,557.13	344,914.03		344,914.03	29.1%
01	9	Information Systems	(Sub-Loc)) 1	1.5%	1	0	0	0%	0	1	301.50	301.50		301.50	0.0%
01	01	Village of Hoffman Estates	(Loc)	65	100.0%	35	10	20	31%	0	65	18,226.51	1,184,723.33		1,184,723.33	100.0%
		Totals for 200	1 Claims:	65	100.0%	35	10	20	31%	0	65	18,226.51	1,184,723.33		1,184,723.33	100.0%
02	102	Planning	(Dept)	1	2.6%	0	1	0	0%	0	1	28,933.52	28,933.52		28,933.52	3.9%
02	1	Community Development	(Sub-Loc)) 1	2.6%	0	1	0	0%	0	1	28,933.52	28,933.52		28,933.52	3.9%
02	301	Fire Suppression	(Dept)	5	13.2%	1	2	2	40%	0	5	11,335.45	56,677.26		56,677.26	7.6%
02	303	Emergency Medical Service	(Dept)	8	21.1%	4	3	1	13%	0	8	7,441.19	59,529.50		59,529.50	8.0%

Year	Code	Description	(Claim Cnt	% of Total	Med Only	Comp	Legi	% of Lgl	Open	Clsd	Avg Cost/ Claim	Paid	Outstanding	Total Incurred	% Of Total
02	306	Technical Rescue	(Dept)	1	2.6%	0	1	0	0%	0	1	5,830.00	5,830.00		5,830.00	0.8%
02	3	Fire	(Sub-Loc)	14	36.8%	5	6	3	21%	0	14	8,716.91	122,036.76		122,036.76	16.3%
02	700	Patrol	(Dept)	11	28.9%	5	0	6	55%	0	11	24,662.45	271,286.95		271,286.95	36.3%
02	704	Traffic	(Dept)	1	2.6%	0	0	1	100%	0	1	310,828.16	310,828.16		310,828.16	41.6%
02	706	Communication	(Dept)	1	2.6%	1	0	0	0%	0	1	1,777.50	1,777.50		1,777.50	0.2%
02	7	Police	(Sub-Loc)	13	34.2%	6	0	7	54%	0	13	44,914.82	583,892.61		583,892.61	78.2%
02	800	Streets	(Dept)	5	13.2%	4	1	0	0%	0	5	1,511.20	7,556.00		7,556.00	1.0%
02	801	Water & Sewer	(Dept)	2	5.3%	0	2	0	0%	0	2	1,227.90	2,455.80		2,455.80	0.3%
02	803	Equipment & Supply	(Dept)	1	2.6%	1	0	0	0%	0	1	281.70	281.70		281.70	0.0%
02	804	Forestry	(Dept)	2	5.3%	2	0	0	0%	0	2	642.60	1,285.20		1,285.20	0.2%
02	8	Public Works	(Sub-Loc)	10	26.3%	7	3	0	0%	0	10	1,157.87	11,578.70		11,578.70	1.6%
02	01	Village of Hoffman Estates	(Loc)	38	100.0%	18	10	10	26%	0	38	19,643.20	746,441.59		746,441.59	100.0%
		Totals for 200	2 Claims:	38	100.0%	18	10	10	26%	0	38	19,643.20	746,441.59		746,441.59	100.0%
03	301	Fire Suppression	(Dept)	5	14.3%	2	1	2	40%	0	5	25,542.01	127,710.07		127,710.07	31.2%
03	303	Emergency Medical Service	(Dept)	12	34.3%	9	1	2	17%	0	12	15,553.15	186,637.80		186,637.80	45.7%
03	305	Underwater Rescue	(Dept)	1	2.9%	1	0	0	0%	0	1	785.49	785.49		785.49	0.2%
03	3	Fire	(Sub-Loc)	18	51.4%	12	2	4	22%	0	18	17,507.41	315,133.36		315,133.36	77.1%
03	700	Patrol	(Dept)	7	20.0%	5	1	1	14%	0	7	1,467.76	10,274.35		10,274.35	2.5%
03	701	Investigations	(Dept)	1	2.9%	0	0	1	100%	0	1	79,722.54	79,722.54		79,722.54	19.5%
03	704	Traffic	(Dept)	3	8.6%	1	2	0	0%	0	3	88.33	265.00		265.00	0.1%
03	7	Police	(Sub-Loc)	11	31.4%	6	3	2	18%	0	11	8,205.63	90,261.89		90,261.89	22.1%
03	801	Water & Sewer	(Dept)	3	8.6%	3	0	0	0%	0	3	699.33	2,098.00		2,098.00	0.5%
03	802	Building & Grounds	(Dept)	2	5.7%	2	0	0	0%	0	2	477.00	954.00		954.00	0.2%
03	803	Equipment & Supply	(Dept)	1	2.9%	1	0	0	0%	0	1	310.50	310.50		310.50	0.1%
03	8	Public Works	(Sub-Loc)	6	17.1%	6	0	0	0%	0	6	560.42	3,362.50		3,362.50	0.8%
03	01	Village of Hoffman Estates	(Loc)	35	100.0%	24	5	6	17%	0	35	11,678.79	408,757.75		408,757.75	100.0%
		Totals for 200	3 Claims:	35	100.0%	24	5	6	17%	0	35	11,678.79	408,757.75		408,757.75	100.0%
04	201	Water Billing	(Dept)	1	2.1%	1	0	0	0%	0	1	1,295.10	1,295.10		1,295.10	0.1%
04	2	Finance	(Sub-Loc)	1	2.1%	1	0	0	0%	0	1	1,295.10	1,295.10		1,295.10	0.1%

Year	Code	Description	1	Claim Cnt	% of Total		Comp	Legi	% of Lgl	Open	Clsd	Avg Cost/ Claim	Paid	Outstanding	Total Incurred	% Of Total
04	301	Fire Suppression	(Dept)	10	20.8%	6	2	2	20%	0	10	4,666.25	46,662.48		46,662.48	4.4%
04	303	Emergency Medical Service	(Dept)	11	22.9%	7	4	0	0%	0	11	12,225.62	134,481.79		134,481.79	12.7%
04	3	Fire	(Sub-Loc)	21	43.8%	13	6	2	10%	0	21	8,625.92	181,144.27		181,144.27	17.1%
04	504	Health Screening	(Dept)	1	2.1%	1	0	0	0%	0	1	405.00	405.00		405.00	0.0%
04	5	Health & Human Services	(Sub-Loc)	1	2.1%	1	0	0	0%	0	1	405.00	405.00		405.00	0.0%
04	600	Administration	(Dept)	1	2.1%	1	0	0	0%	0	1	248.68	248.68		248.68	0.0%
04	6	Human Resources Manage	(Sub-Loc)	1	2.1%	1	0	0	0%	0	1	248.68	248.68		248.68	0.0%
04	700	Patrol	(Dept)	16	33.3%	12	0	4	25%	0	16	41,219.86	659,517.75		659,517.75	62.4%
04	703	Tactical	(Dept)	2	4.2%	2	0	0	0%	0	2	137.84	275.68		275.68	0.0%
04	7	Police	(Sub-Loc)	18	37.5%	14	0	4	22%	0	18	36,655.19	659,793.43		659,793.43	62.5%
04	800	Streets	(Dept)	3	6.3%	1	0	2	67%	0	3	43,878.25	131,634.74		131,634.74	12.5%
04	801	Water & Sewer	(Dept)	1	2.1%	1	0	0	0%	0	1	0.00	0.00		0.00	0.0%
04	803	Equipment & Supply	(Dept)	1	2.1%	0	0	1	100%	0	1	81,422.11	81,422.11		81,422.11	7.7%
04	804	Forestry	(Dept)	1	2.1%	1	0	0	0%	0	1	481.50	481.50		481.50	0.0%
04	8	Public Works	(Sub-Loc)	6	12.5%	3	0	3	50%	0	6	35,589.73	213,538.35		213,538.35	20.2%
04	01	Village of Hoffman Estates	(Loc)	48	100.0%	33	6	9	19%	0	48	22,008.85	1,056,424.83		1,056,424.83	100.0%
		Totals for 200	4 Claims:	48	100.0%	33	6	9	19%	0	48	22,008.85	1,056,424.83		1,056,424.83	100.0%
05	301	Fire Suppression	(Dept)	6	11.3%	4	2	0	0%	0	6	1,012.80	6,076.77		6,076.77	2.0%
05	303	Emergency Medical Service	(Dept)	20	37.7%	12	5	3	15%	0	20	12,979.04	259,580.79		259,580.79	83.9%
05	3	Fire	(Sub-Loc)	26	49.1%	16	7	3	12%	0	26	10,217.60	265,657.56		265,657.56	85.9%
05	504	Health Screening	(Dept)	1	1.9%	1	0	0	0%	0	1	184.50	184.50		184.50	0.1%
05	5	Health & Human Services	(Sub-Loc)	1	1.9%	1	0	0	0%	0	1	184.50	184.50		184.50	0.1%
05	700	Patrol	(Dept)	7	13.2%	5	1	1	14%	0	7	3,015.10	21,105.71		21,105.71	6.8%
05	701	Investigations	(Dept)	1	1.9%	1	0	0	0%	0	1	297.00	297.00		297.00	0.1%
05	704	Traffic	(Dept)	1	1.9%	1	0	0	0%	0	1	1,186.85	1,186.85		1,186.85	0.4%
05	707	Records	(Dept)	1	1.9%	0	0	1	100%	0	1	10,253.45	10,253.45		10,253.45	3.3%
05	7	Police	(Sub-Loc)	10	18.9%	7	1	2	20%	0	10	3,284.30	32,843.01		32,843.01	10.6%
05	800	Streets	(Dept)	4	7.5%	4	0	0	0%	0	4	627.99	2,511.94		2,511.94	0.8%
05	801	Water & Sewer	(Dept)	5	9.4%	5	0	0	0%	0	5	1,066.50	5,332.50		5,332.50	1.7%

Year	Code	Description	(Claim Cnt		Med Only	Comp	Legi	% of Lgl	Open	Clsd	Avg Cost/ Claim	Paid	Outstanding	Total Incurred	% Of Total
05	802	Building & Grounds	(Dept)	1	1.9%	1	0	0	0%	0	1	437.00	437.00		437.00	0.1%
05	803	Equipment & Supply	(Dept)	2	3.8%	2	0	0	0%	0	2	697.05	1,394.10		1,394.10	0.5%
05	804	Forestry	(Dept)	4	7.5%	3	1	0	0%	0	4	259.88	1,039.50		1,039.50	0.3%
05	8	Public Works	(Sub-Loc)	16	30.2%	15	1	0	0%	0	16	669.69	10,715.04		10,715.04	3.5%
05	01	Village of Hoffman Estates	(Loc)	53	100.0%	39	9	5	9%	0	53	5,837.74	309,400.11		309,400.11	100.0%
		Totals for 200	5 Claims:	53	100.0%	39	9	5	9%	0	53	5,837.74	309,400.11		309,400.11	100.0%
06	201	Water Billing	(Dept)	1	1.8%	0	1	0	0%	0	1	1,527.37	1,527.37		1,527.37	0.1%
06	2	Finance	(Sub-Loc)	1	1.8%	0	1	0	0%	0	1	1,527.37	1,527.37		1,527.37	0.1%
06	301	Fire Suppression	(Dept)	9	16.1%	5	2	2	22%	0	9	38,029.36	342,264.26		342,264.26	31.5%
06	303	Emergency Medical Service	(Dept)	14	25.0%	7	3	4	29%	0	14	39,335.55	550,697.76		550,697.76	50.8%
06	3	Fire	(Sub-Loc)	23	41.1%	12	5	6	26%	0	23	38,824.44	892,962.02		892,962.02	82.3%
06	700	Patrol	(Dept)	17	30.4%	11	3	3	18%	0	17	3,949.26	67,137.34		67,137.34	6.2%
06	701	Investigations	(Dept)	1	1.8%	1	0	0	0%	0	1	0.00	0.00		0.00	0.0%
06	703	Tactical	(Dept)	4	7.1%	3	1	0	0%	0	4	2,311.32	9,245.26		9,245.26	0.9%
06	704	Traffic	(Dept)	2	3.6%	2	0	0	0%	0	2	3,850.97	7,701.94		7,701.94	0.7%
06	707	Records	(Dept)	1	1.8%	0	0	1	100%	0	1	25,046.89	25,046.89		25,046.89	2.3%
06	7	Police	(Sub-Loc)	25	44.6%	17	4	4	16%	0	25	4,365.26	109,131.43		109,131.43	10.1%
06	800	Streets	(Dept)	1	1.8%	1	0	0	0%	0	1	4,201.51	4,201.51		4,201.51	0.4%
06	801	Water & Sewer	(Dept)	2	3.6%	1	1	0	0%	0	2	112.50	225.00		225.00	0.0%
06	802	Building & Grounds	(Dept)	1	1.8%	0	1	0	0%	0	1	70,689.99	70,689.99		70,689.99	6.5%
06	804	Forestry	(Dept)	3	5.4%	3	0	0	0%	0	3	2,038.90	6,116.71		6,116.71	0.6%
06	8	Public Works	(Sub-Loc)	7	12.5%	5	2	0	0%	0	7	11,604.74	81,233.21		81,233.21	7.5%
06	01	Village of Hoffman Estates	(Loc)	56	100.0%	34	12	10	18%	0	56	19,372.39	1,084,854.03		1,084,854.03	100.0%
		Totals for 200	6 Claims:	56	100.0%	34	12	10	18%	0	56	19,372.39	1,084,854.03		1,084,854.03	100.0%
07	301	Fire Suppression	(Dept)	9	18.8%	7	0	2	22%	0	9	42,805.36	385,248.23		385,248.23	50.9%
07	303	Emergency Medical Service	(Dept)	7	14.6%	6	0	1	14%	0	7	2,644.72	18,513.01		18,513.01	2.4%
07	3	Fire	(Sub-Loc)	16	33.3%	13	0	3	19%	0	16	25,235.08	403,761.24		403,761.24	53.3%
07	600	Administration	(Dept)	1	2.1%	0	1	0	0%	0	1	0.00	0.00		0.00	0.0%
07	6	Human Resources Manage	(Sub-Loc)	1	2.1%	0	1	0	0%	0	1	0.00	0.00		0.00	0.0%

Year	Code	Description	(Claim Cnt	% of Total		Comp	Legi	% of Lgl	Open	Clsd	Avg Cost/ Claim	Paid	Outstanding	Total Incurred	% Of Total
07	700	Patrol	(Dept)	10	20.8%	6	2	2	20%	0	10	17,411.53	174,115.28		174,115.28	23.0%
07	703	Tactical	(Dept)	2	4.2%	2	0	0	0%	0	2	356.16	712.31		712.31	0.1%
07	704	Traffic	(Dept)	4	8.3%	2	1	1	25%	0	4	4,376.80	17,507.19		17,507.19	2.3%
07	7	Police	(Sub-Loc)	16	33.3%	10	3	3	19%	0	16	12,020.92	192,334.78		192,334.78	25.4%
07	800	Streets	(Dept)	3	6.3%	2	0	1	33%	0	3	8,294.56	24,883.69		24,883.69	3.3%
07	801	Water & Sewer	(Dept)	4	8.3%	4	0	0	0%	0	4	1,093.37	4,373.47		4,373.47	0.6%
07	802	Building & Grounds	(Dept)	1	2.1%	1	0	0	0%	0	1	743.84	743.84		743.84	0.1%
07	803	Equipment & Supply	(Dept)	3	6.3%	3	0	0	0%	0	3	1,148.10	3,444.30		3,444.30	0.5%
07	804	Forestry	(Dept)	4	8.3%	3	0	1	25%	0	4	31,828.77	127,315.08		127,315.08	16.8%
07	8	Public Works	(Sub-Loc)	15	31.3%	13	0	2	13%	0	15	10,717.36	160,760.38		160,760.38	21.2%
07	01	Village of Hoffman Estates	(Loc)	48	100.0%	36	4	8	17%	0	48	15,767.84	756,856.40		756,856.40	100.0%
		Totals for 200	7 Claims:	48	100.0%	36	4	8	17%	0	48	15,767.84	756,856.40		756,856.40	100.0%
08	200	Accounting	(Dept)	1	1.6%	1	0	0	0%	0	1	0.00	0.00		0.00	0.0%
80	206	Customer Service	(Dept)	1	1.6%	0	1	0	0%	0	1	0.00	0.00		0.00	0.0%
08	2	Finance	(Sub-Loc)	2	3.1%	1	1	0	0%	0	2	0.00	0.00		0.00	0.0%
80	300	Administration	(Dept)	1	1.6%	1	0	0	0%	0	1	3,466.28	3,466.28		3,466.28	0.7%
80	301	Fire Suppression	(Dept)	14	21.9%	11	2	1	7%	0	14	1,747.67	24,467.38		24,467.38	4.8%
80	303	Emergency Medical Service	(Dept)	22	34.4%	17	2	3	14%	0	22	10,444.02	229,768.34		229,768.34	44.8%
80	3	Fire	(Sub-Loc)	37	57.8%	29	4	4	11%	0	37	6,964.92	257,702.00		257,702.00	50.2%
80	400	Manager's Office	(Dept)	1	1.6%	0	1	0	0%	0	1	0.00	0.00		0.00	0.0%
80	4	General Government	(Sub-Loc)	1	1.6%	0	1	0	0%	0	1	0.00	0.00		0.00	0.0%
80	700	Patrol	(Dept)	7	10.9%	4	0	3	43%	0	7	8,533.91	59,737.37		59,737.37	11.6%
08	701	Investigations	(Dept)	1	1.6%	-0	0	1	100%	0.0	1	80,561.35	80,561.35		80,561.35	15.7%
80	703	Tactical	(Dept)	2	3.1%	2	0	0	0%	0	2	953.81	1,907.61		1,907.61	0.4%
80	704	Traffic	(Dept)	1	1.6%	0	1	0	0%	0	1	8,049.19	8,049.19		8,049.19	1.6%
80	705	Canine	(Dept)	1	1.6%	1	0	0	0%	0	1	5,940.13	5,940.13		5,940.13	1.2%
80	7	Police	(Sub-Loc)	12	18.8%	7	1	4	33%	0	12	13,016.30	156,195.65		156,195.65	30.4%
80	800	Streets	(Dept)	5	7.8%	4	1	0	0%	0	5	661.38	3,306.90		3,306.90	0.6%
80	801	Water & Sewer	(Dept)	5	7.8%	4	1	0	0%	0	5	410.40	2,052.00		2,052.00	0.4%

Year	Code	Description	(Claim Cnt	% of Total		Comp	Legi	% of Lgl	Open	Clsd	Avg Cost/ Claim	Paid	Outstanding	Total Incurred	% Of Total
08	804	Forestry	(Dept)	2	3.1%	1	0	1	50%	0	2	46,969.21	93,938.41		93,938.41	18.3%
80	8	Public Works	(Sub-Loc)	12	18.8%	9	2	1	8%	0	12	8,274.78	99,297.31		99,297.31	19.3%
80	01	Village of Hoffman Estates	(Loc)	64	100.0%	46	9	9	14%	0	64	8,018.67	513,194.96		513,194.96	100.0%
		Totals for 200	8 Claims:	64	100.0%	46	9	9	14%	0	64	8,018.67	513,194.96		513,194.96	100.0%
09	300	Administration	(Dept)	2	3.8%	1	1	0	0%	0	2	7,601.49	15,202.97		15,202.97	2.2%
09	301	Fire Suppression	(Dept)	14	26.4%	11	3	0	0%	0	14	4,642.64	64,996.99		64,996.99	9.3%
09	303	Emergency Medical Service	(Dept)	20	37.7%	13	4	3	15%	0	20	17,948.22	358,964.35		358,964.35	51.1%
09	3	Fire	(Sub-Loc)	36	67.9%	25	8	3	8%	0	36	12,199.01	439,164.31		439,164.31	62.6%
09	600	Administration	(Dept)	1	1.9%	0	0	1	100%	0	1	19,350.10	19,350.10		19,350.10	2.8%
09	6	Human Resources Manage	(Sub-Loc)	1	1.9%	0	0	1	100%	0	1	19,350.10	19,350.10		19,350.10	2.8%
09	700	Patrol	(Dept)	8	15.1%	2	2	4	50%	0	8	18,574.08	148,592.67		148,592.67	21.2%
09	704	Traffic	(Dept)	1	1.9%	1	0	0	0%	0	1	2,457.38	2,457.38		2,457.38	0.4%
09	707	Records	(Dept)	1	1.9%	1	0	0	0%	0	1	0.00	0.00		0.00	0.0%
09	7	Police	(Sub-Loc)	10	18.9%	4	2	4	40%	0	10	15,105.01	151,050.05		151,050.05	21.5%
09	800	Streets	(Dept)	1	1.9%	0	0	1	100%	0	1	85,580.51	85,580.51		85,580.51	12.2%
09	801	Water & Sewer	(Dept)	2	3.8%	2	0	0	0%	0	2	592.65	1,185.30		1,185.30	0.2%
09	803	Equipment & Supply	(Dept)	1	1.9%	0	1	0	0%	0	1	4,634.90	4,634.90		4,634.90	0.7%
09	804	Forestry	(Dept)	2	3.8%	2	0	0	0%	0	2	551.70	1,103.40		1,103.40	0.2%
09	8	Public Works	(Sub-Loc)	6	11.3%	4	1	1	17%	0	6	15,417.35	92,504.11		92,504.11	13.2%
09	01	Village of Hoffman Estates	(Loc)	53	100.0%	33	11	9	17%	0	53	13,246.58	702,068.57		702,068.57	100.0%
		Totals for 200	9 Claims:	53	100.0%	33	11	9	17%	0	53	13,246.58	702,068.57		702,068.57	100.0%
10	200	Accounting	(Dept)	2	4.8%	0	1	1	50%	0	2	21,935.31	43,870.61		43,870.61	7.7%
10	2	Finance	(Sub-Loc)	2	4.8%	0	1	1	50%	0	2	21,935.31	43,870.61		43,870.61	7.7%
10	250	PPO Payments	(Dept)	1	2.4%	1	0	0	0%	0	1	25,802.19	25,802.19		25,802.19	4.5%
10	25	PPO Payments	(Sub-Loc)	1	2.4%	1	0	0	0%	0	1	25,802.19	25,802.19		25,802.19	4.5%
10	301	Fire Suppression	(Dept)	8	19.0%	3	5	0	0%	0	8	3,252.66	26,021.31		26,021.31	4.6%
10	303	Emergency Medical Service	(Dept)	8	19.0%	4	1	3	38%	0	8	22,624.71	180,997.64		180,997.64	31.9%
10	3	Fire	(Sub-Loc)	16	38.1%	7	6	3	19%	0	16	12,938.68	207,018.95		207,018.95	36.4%
10	700	Patrol	(Dept)	15	35.7%	7	4	4	27%	0	15	17,690.70	265,360.50		265,360.50	46.7%

Year	Code	Description		Claim Cnt	% of Total		Comp	Legi	% of Lgl	Open	Clsd	Avg Cost/ Claim	Paid	Outstanding	Total Incurred	% Of Total
10	7	Police	(Sub-Loc)	15	35.7%	7	4	4	27%	0	15	17,690.70	265,360.50		265,360.50	46.7%
10	800	Streets	(Dept)	3	7.1%	2	1	0	0%	0	3	251.71	755.12		755.12	0.1%
10	801	Water & Sewer	(Dept)	3	7.1%	3	0	0	0%	0	3	2,370.53	7,111.59		7,111.59	1.3%
10	802	Building & Grounds	(Dept)	1	2.4%	1	0	0	0%	0	1	541.00	541.00		541.00	0.1%
10	804	Forestry	(Dept)	1	2.4%	0	1	0	0%	0	1	17,684.94	17,684.94		17,684.94	3.1%
10	8	Public Works	(Sub-Loc)	8	19.0%	6	2	0	0%	0	8	3,261.58	26,092.65		26,092.65	4.6%
10	01	Village of Hoffman Estates	(Loc)	42	100.0%	21	13	8	19%	0	42	13,527.26	568,144.90		568,144.90	100.0%
		Totals for 201	10 Claims:	42	100.0%	21	13	8	19%	0	42	13,527.26	568,144.90		568,144.90	100.0%
11	200	Accounting	(Dept)	1	3.2%	0	1	0	0%	0	1	0.00	0.00		0.00	0.0%
11	2	Finance	(Sub-Loc)	1	3.2%	0	1	0	0%	0	1	0.00	0.00		0.00	0.0%
11	250	PPO Payments	(Dept)	1	3.2%	1	0	0	0%	0	1	20,457.16	20,457.16		20,457.16	2.8%
11	25	PPO Payments	(Sub-Loc)	1	3.2%	1	0	0	0%	0	1	20,457.16	20,457.16		20,457.16	2.8%
11	301	Fire Suppression	(Dept)	4	12.9%	2	1	1	25%	0	4	63,247.39	252,989.56		252,989.56	34.7%
11	303	Emergency Medical Service	(Dept)	11	35.5%	9	0	2	18%	0	11	19,510.89	214,619.81		214,619.81	29.4%
11	3	Fire	(Sub-Loc)	15	48.4%	11	1	3	20%	0	15	31,173.96	467,609.37		467,609.37	64.1%
11	700	Patrol	(Dept)	10	32.3%	6	1	3	30%	0	10	23,145.83	231,458.29		231,458.29	31.7%
11	703	Tactical	(Dept)	1	3.2%	0	1	0	0%	0	1	6,447.68	6,447.68		6,447.68	0.9%
11	7	Police	(Sub-Loc)	11	35.5%	6	2	3	27%	0	11	21,627.82	237,905.97		237,905.97	32.6%
11	801	Water & Sewer	(Dept)	1	3.2%	1	0	0	0%	0	1	489.57	489.57		489.57	0.1%
11	804	Forestry	(Dept)	1	3.2%	1	0	0	0%	0	1	2,769.16	2,769.16		2,769.16	0.4%
11	805	Clerical	(Dept)	1	3.2%	0	1	0	0%	0	1	0.00	0.00		0.00	0.0%
11	8	Public Works	(Sub-Loc)	3	9.7%	2	1	0	0%	0	3	1,086.24	3,258.73		3,258.73	0.4%
11	01	Village of Hoffman Estates	(Loc)	31	100.0%	20	5	6	19%	0	31	23,523.59	729,231.23		729,231.23	100.0%
		Totals for 20°	11 Claims:	31	100.0%	20	5	6	19%	0	31	23,523.59	729,231.23		729,231.23	100.0%
12	101	Engineering/Transportation	(Dept)	1	2.3%	1	0	0	0%	0	1	1,556.13	1,556.13		1,556.13	0.5%
12	1	Community Development	(Sub-Loc)	1	2.3%	1	0	0	0%	0	1	1,556.13	1,556.13		1,556.13	0.5%
12	250	PPO Payments	(Dept)	1	2.3%	1	0	0	0%	0	1	49,116.23	49,116.23		49,116.23	14.3%
12	25	PPO Payments	(Sub-Loc)	1	2.3%	1	0	0	0%	0	1	49,116.23	49,116.23		49,116.23	14.3%
12	301	Fire Suppression	(Dept)	12	27.9%	10	1	1	8%	0	12	2,365.84	28,390.13		28,390.13	8.3%

Year	Code	Description	•	Claim Cnt		Med Only	Comp	Legi	% of Lgl	Open	Clsd	Avg Cost/ Claim	Paid	Outstanding	Total Incurred	% Of Total
12	303	Emergency Medical Service	(Dept)	8	18.6%	7	0	1	13%	0	8	21,935.16	175,481.26		175,481.26	51.2%
12	3	Fire	(Sub-Loc)	20	46.5%	17	1	2	10%	0	20	10,193.57	203,871.39		203,871.39	59.5%
12	700	Patrol	(Dept)	9	20.9%	6	1	2	22%	0	9	8,148.55	73,336.98		73,336.98	21.4%
12	701	Investigations	(Dept)	2	4.7%	1	1	0	0%	0	2	341.20	682.40		682.40	0.2%
12	704	Traffic	(Dept)	1	2.3%	1	0	0	0%	0	1	4,940.28	4,940.28		4,940.28	1.4%
12	7	Police	(Sub-Loc)	12	27.9%	8	2	2	17%	0	12	6,579.97	78,959.66		78,959.66	23.0%
12	800	Streets	(Dept)	3	7.0%	2	1	0	0%	0	3	296.81	890.43		890.43	0.3%
12	801	Water & Sewer	(Dept)	5	11.6%	4	1	0	0%	0	5	1,614.09	8,070.44		8,070.44	2.4%
12	804	Forestry	(Dept)	1	2.3%	1	0	0	0%	0	1	257.70	257.70		257.70	0.1%
12	8	Public Works	(Sub-Loc)	9	20.9%	7	2	0	0%	0	9	1,024.29	9,218.57		9,218.57	2.7%
12	01	Village of Hoffman Estates	(Loc)	43	100.0%	34	5	4	9%	0	43	7,970.28	342,721.98		342,721.98	100.0%
		Totals for 201	2 Claims:	43	100.0%	34	5	4	9%	0	43	7,970.28	342,721.98		342,721.98	100.0%
13	102	Planning	(Dept)	1	2.6%	0	1	0	0%	0	1	481.33	481.33		481.33	0.1%
13	1	Community Development	(Sub-Loc)	1	2.6%	0	1	0	0%	0	1	481.33	481.33		481.33	0.1%
13	200	Accounting	(Dept)	1	2.6%	1	0	0	0%	0	1	342.41	342.41		342.41	0.1%
13	2	Finance	(Sub-Loc)	1	2.6%	1	0	0	0%	0	1	342.41	342.41		342.41	0.1%
13	301	Fire Suppression	(Dept)	8	20.5%	6	2	0	0%	0	8	3,862.32	30,898.53		30,898.53	6.8%
13	303	Emergency Medical Service	(Dept)	6	15.4%	3	1	2	33%	0	6	35,673.45	214,040.72		214,040.72	46.9%
13	3	Fire	(Sub-Loc)	14	35.9%	9	3	2	14%	0	14	17,495.66	244,939.25		244,939.25	53.6%
13	700	Patrol	(Dept)	12	30.8%	4	2	6	50%	1	11	15,021.36	169,607.41	10,648.89	180,256.30	39.5%
13	701	Investigations	(Dept)	1	2.6%	1	0	0	0%	0	1	1,134.37	1,134.37		1,134.37	0.2%
13	7	Police	(Sub-Loc)	13	33.3%	5	2	6	46%	1	12	13,953.13	170,741.78	10,648.89	181,390.67	39.7%
13	801	Water & Sewer	(Dept)	9	23.1%	8	1	0	0%	0	. 9	3,217.94	28,961.44		28,961.44	6.3%
13	804	Forestry	(Dept)	1	2.6%	1	0	0	0%	0	1	471.75	471.75		471.75	0.1%
13	8	Public Works	(Sub-Loc)	10	25.6%	9	1	0	0%	0	10	2,943.32	29,433.19		29,433.19	6.4%
13	01	Village of Hoffman Estates	(Loc)	39	100.0%	24	7	8	21%	1	38	11,707.36	445,937.96	10,648.89	456,586.85	100.0%
		Totals for 201	3 Claims:	39	100.0%	24	7	8	21%	1	38	11,707.36	445,937.96	10,648.89	456,586.85	100.0%
14	100	Code Enforcement	(Dept)	1	2.0%	0	1	0	0%	0	1	0.00	0.00		0.00	0.0%
14	102	Planning	(Dept)	1	2.0%	1	0	0	0%	0	1	642.39	642.39		642.39	0.1%

Year	Code	Description		Claim Cnt		Med Only	Comp	Legi	% of Lgl	Open	Clsd	Avg Cost/ Claim	Paid	Outstanding	Total Incurred	% Of Total
14	1	Community Development	(Sub-Loc)	2	4.1%	1	1	0	0%	0	2	321.20	642.39		642.39	0.1%
14	301	Fire Suppression	(Dept)	12	24.5%	9	0	3	25%	1	11	37,350.40	356,453.83	91,750.95	448,204.78	63.1%
14	303	Emergency Medical Service	(Dept)	6	12.2%	3	1	2	33%	0	6	9,013.74	54,082.42		54,082.42	7.6%
14	3	Fire	(Sub-Loc)	18	36.7%	12	1	5	28%	1	17	27,904.84	410,536.25	91,750.95	502,287.20	70.7%
14	401	Cable TV	(Dept)	1	2.0%	1	0	0	0%	0	1	0.00	0.00		0.00	0.0%
14	4	General Government	(Sub-Loc)	1	2.0%	1	0	0	0%	0	1	0.00	0.00		0.00	0.0%
14	600	Administration	(Dept)	1	2.0%	1	0	0	0%	0	1	2,934.04	2,934.04		2,934.04	0.4%
14	6	Human Resources Manage	(Sub-Loc)	1	2.0%	1	0	0	0%	0	1	2,934.04	2,934.04		2,934.04	0.4%
14	700	Patrol	(Dept)	16	32.7%	12	3	1	6%	0	16	12,041.83	192,669.28		192,669.28	27.1%
14	701	Investigations	(Dept)	1	2.0%	0	1	0	0%	0	1	213.50	213.50		213.50	0.0%
14	704	Traffic	(Dept)	1	2.0%	1	0	0	0%	0	1	1,148.28	1,148.28		1,148.28	0.2%
14	7	Police	(Sub-Loc)	18	36.7%	13	4	1	6%	0	18	10,779.50	194,031.06		194,031.06	27.3%
14	800	Streets	(Dept)	1	2.0%	1	0	0	0%	0	1	972.94	972.94		972.94	0.1%
14	801	Water & Sewer	(Dept)	5	10.2%	3	2	0	0%	0	5	1,205.25	6,026.24		6,026.24	0.8%
14	804	Forestry	(Dept)	3	6.1%	3	0	0	0%	0	3	1,103.67	3,311.00		3,311.00	0.5%
14	8	Public Works	(Sub-Loc)	9	18.4%	7	2	0	0%	0	9	1,145.58	10,310.18		10,310.18	1.5%
14	01	Village of Hoffman Estates	(Loc)	49	100.0%	35	8	6	12%	1	48	14,493.98	618,453.92	91,750.95	710,204.87	100.0%
		Totals for 201	4 Claims:	49	100.0%	35	8	6	12%	1	48	14,493.98	618,453.92	91,750.95	710,204.87	100.0%
15	100	Code Enforcement	(Dept)	1	3.4%	1	0	0	0%	0	1	371.99	371.99		371.99	0.1%
15	1	Community Development	(Sub-Loc)) 1	3.4%	1	0	0	0%	0	1	371.99	371.99		371.99	0.1%
15	301	Fire Suppression	(Dept)	9	31.0%	5	1	3	33%	0	9	29,860.63	268,745.66		268,745.66	64.7%
15	303	Emergency Medical Service	(Dept)	6	20.7%	4	0	2	33%	0	6	12,038.88	72,233.27		72,233.27	17.4%
15	3	Fire	(Sub-Loc	15	51.7%	9	1	5	33%	0	15	22,731.93	340,978.93		340,978.93	82.1%
15	505	Immunization	(Dept)	1	3.4%	1	0	0	0%	0	1	958.06	958.06		958.06	0.2%
15	5	Health & Human Services	(Sub-Loc) 1	3.4%	1	0	0	0%	0	1	958.06	958.06		958.06	0.2%
15	700	Patrol	(Dept)	7	24.1%	6	0	1	14%	0	7	9,232.10	64,624.67		64,624.67	15.6%
15	701	Investigations	(Dept)	1	3.4%	0	1	0	0%	0	1	913.00	913.00		913.00	0.2%
15	7	Police	(Sub-Loc	8 (27.6%	6	1	1	13%	0	8	8,192.21	65,537.67		65,537.67	15.8%
15	800	Streets	(Dept)	1	3.4%	1	0	0	0%	0	1	184.04	184.04		184.04	0.0%

Year	Code	Description		Claim Cnt			Comp	Legi	% of Lgl	Open	Clsd	Avg Cost/ Claim	Paid	Outstanding	Total Incurred	% Of Total
15	801	Water & Sewer	(Dept)	1	3.4%	1	0	0	0%	0	1	582.07	582.07		582.07	0.1%
15	802	Building & Grounds	(Dept)	1	3.4%	1	0	0	0%	0	1	361.60	361.60		361.60	0.1%
15	804	Forestry	(Dept)	1	3.4%	1	0	0	0%	0	1	6,160.47	6,160.47		6,160.47	1.5%
15	8	Public Works	(Sub-Loc)	4	13.8%	4	0	0	0%	0	4	1,822.05	7,288.18		7,288.18	1.8%
15	01	Village of Hoffman Estates	(Loc)	29	100.0%	21	2	6	21%	0	29	14,314.99	415,134.83		415,134.83	100.0%
		Totals for 201	5 Claims:	29	100.0%	21	2	6	21%	0	29	14,314.99	415,134.83		415,134.83	100.0%
16	301	Fire Suppression	(Dept)	3	8.1%	2	1	0	0%	0	3	466.15	1,398.44		1,398.44	0.2%
16	303	Emergency Medical Service	(Dept)	4	10.8%	2	0	2	50%	1	3	46,943.39	172,927.13	14,846.44	187,773.57	24.1%
16	3	Fire	(Sub-Loc)	7	18.9%	4	1	2	29%	1	6	27,024.57	174,325.57	14,846.44	189,172.01	24.3%
16	700	Patrol	(Dept)	16	43.2%	13	1	2	13%	0	16	33,242.87	531,885.85		531,885.85	68.3%
16	701	Investigations	(Dept)	1	2.7%	1	0	0	0%	0	1	7,112.66	7,112.66		7,112.66	0.9%
16	703	Tactical	(Dept)	1	2.7%	1	0	0	0%	0	1	140.43	140.43		140.43	0.0%
16	7	Police	(Sub-Loc)	18	48.6%	15	1	2	11%	0	18	29,952.16	539,138.94		539,138.94	69.2%
16	800	Streets	(Dept)	1	2.7%	1	0	0	0%	0	1	329.95	329.95		329.95	0.0%
16	801	Water & Sewer	(Dept)	4	10.8%	3	1	0	0%	0	4	4,394.90	17,579.60		17,579.60	2.3%
16	803	Equipment & Supply	(Dept)	3	8.1%	2	1	0	0%	0	3	7,918.56	23,755.68		23,755.68	3.0%
16	804	Forestry	(Dept)	3	8.1%	3	0	0	0%	0	3	2,216.74	6,650.22		6,650.22	0.9%
16	8	Public Works	(Sub-Loc)	11	29.7%	9	2	0	0%	0	11	4,392.31	48,315.45		48,315.45	6.2%
16	9	Information Systems	(Sub-Loc)) 1	2.7%	1	0	0	0%	0	1	2,371.46	2,371.46		2,371.46	0.3%
16	01	Village of Hoffman Estates	(Loc)	37	100.0%	29	4	4	11%	1	36	21,054.00	764,151.42	14,846.44	778,997.86	100.0%
		Totals for 201	6 Claims:	37	100.0%	29	4	4	11%	1	36	21,054.00	764,151.42	14,846.44	778,997.86	100.0%
17	301	Fire Suppression	(Dept)	1	5.6%	0	0	1	100%	1	0	117,455.95	23,216.25	94,239.70	117,455.95	28.0%
17	303	Emergency Medical Service	(Dept)	5	27.8%	3	0	2	40%	1	4	58,784.81	244,066.47	49,857.56	293,924.03	70.1%
17	3	Fire	(Sub-Loc)) 6	33.3%	3	0	3	50%	2	4	68,563.33	267,282.72	144,097.26	411,379.98	98.1%
17	700	Patrol	(Dept)	5	27.8%	5	0	0	0%	0	5	757.36	3,786.80		3,786.80	0.9%
17	701	Investigations	(Dept)	1	5.6%	1	0	0	0%	0	1	0.00	0.00		0.00	0.0%
17	703	Tactical	(Dept)	1	5.6%	1	0	0	0%	0	1	1,114.58	1,114.58		1,114.58	0.3%
17	7	Police	(Sub-Loc)	7	38.9%	7	0	0	0%	0	7	700.20	4,901.38		4,901.38	1.2%
17	800	Streets	(Dept)	1	5.6%	1	0	0	0%	0	1	2,186.65	2,186.65		2,186.65	0.5%

Year	Code	Description	1	Claim Cnt	% of Total		Comp	Legi	% of Lgl	Open	Clsd	Avg Cost/ Claim	Paid	Outstanding	Total incurred	% Of Total
17	804	Forestry	(Dept)	4	22.2%	4	0	0	0%	0	4	246.90	987.59		987.59	0.2%
17	8	Public Works	(Sub-Loc)	5	27.8%	5	0	0	0%	0	5	634.85	3,174.24		3,174.24	0.8%
17	01	Village of Hoffman Estates	(Loc)	18	100.0%	15	0	3	17%	2	16	23,303.09	275,358.34	144,097.26	419,455.60	100.0%
		Totals for 201	7 Claims:	18	100.0%	15	0	3	17%	2	16	23,303.09	275,358.34	144,097.26	419,455.60	100.0%
18	100	Code Enforcement	(Dept)	1	2.9%	0	1	0	0%	0	1	605.84	605.84		605.84	0.2%
18	1	Community Development	(Sub-Loc)	1	2.9%	0	1	0	0%	0	1	605.84	605.84		605.84	0.2%
18	301	Fire Suppression	(Dept)	8	23.5%	4	3	1	13%	0	8	6,056.13	48,449.03		48,449.03	13.6%
18	303	Emergency Medical Service	(Dept)	5	14.7%	3	0	2	40%	2	3	25,304.55	56,101.05	70,421.70	126,522.75	35.6%
18	3	Fire	(Sub-Loc)	13	38.2%	7	3	3	23%	2	11	13,459.37	104,550.08	70,421.70	174,971.78	49.2%
18	700	Patrol	(Dept)	14	41.2%	11	1	2	14%	2	12	12,498.90	142,808.90	32,175.76	174,984.66	49.2%
18	7	Police	(Sub-Loc)	14	41.2%	11	1	2	14%	2	12	12,498.90	142,808.90	32,175.76	174,984.66	49.2%
18	800	Streets	(Dept)	2	5.9%	2	0	0	0%	0	2	375.71	751.41		751.41	0.2%
18	801	Water & Sewer	(Dept)	1	2.9%	1	0	0	0%	0	1	618.53	618.53		618.53	0.2%
18	802	Building & Grounds	(Dept)	1	2.9%	1	0	0	0%	0	1	1,855.66	1,855.66		1,855.66	0.5%
18	804	Forestry	(Dept)	1	2.9%	1	0	0	0%	0	1	1,179.47	1,179.47		1,179.47	0.3%
18	805	Clerical	(Dept)	1	2.9%	0	1	0	0%	0	1	727.84	727.84		727.84	0.2%
18	8	Public Works	(Sub-Loc)	6	17.6%	5	1	0	0%	0	6	855.49	5,132.91		5,132.91	1.4%
18	01	Village of Hoffman Estates	(Loc)	34	100.0%	23	6	5	15%	4	30	10,461.62	253,097.73	102,597.46	355,695.19	100.0%
		Totals for 201	8 Claims:	34	100.0%	23	6	5	15%	4	30	10,461.62	253,097.73	102,597.46	355,695.19	100.0%
19	301	Fire Suppression	(Dept)	12	42.9%	8	1	3	25%	4	8	32,754.29	199,455.99	193,595.48	393,051.47	57.6%
19	303	Emergency Medical Service	(Dept)	4	14.3%	3	1	0	0%	1	3	24,030.43	42,207.20	53,914.52	96,121.72	14.1%
19	3	Fire	(Sub-Loc)	16	57.1%	11	2	3	19%	5	11	30,573.32	241,663.19	247,510.00	489,173.19	71.7%
19	700	Patrol	(Dept)	12	42.9%	8	2	2	17%	1	11	16,055.16	172,250.40	20,411.47	192,661.87	28.3%
19	7	Police	(Sub-Loc)	12	42.9%	8	2	2	17%	1	11	16,055.16	172,250.40	20,411.47	192,661.87	28.3%
19	01	Village of Hoffman Estates	(Loc)	28	100.0%	19	4	5	18%	6	22	24,351.25	413,913.59	267,921.47	681,835.06	100.0%
		Totals for 201	9 Claims:	28	100.0%	19	4	5	18%	6	22	24,351.25	413,913.59	267,921.47	681,835.06	100.0%
20	100	Code Enforcement	(Dept)	2	11.8%	1	1	0	0%	1	1	1,225.91	0.00	2,451.81	2,451.81	1.9%
20	1	Community Development	(Sub-Loc)	2	11.8%	1	1	0	0%	1	1	1,225.91	0.00	2,451.81	2,451.81	1.9%
20	301	Fire Suppression	(Dept)	8	47.1%	4	2	2	25%	2	6	10,584.80	47,276.91	37,401.48	84,678.39	64.4%

Year	Code	Description	(Claim Cnt		Med Only	Comp	Legi	% of Lgl	Open	Clsd	Avg Cost Claim		Outstanding	Total Incurred	% Of Total
20	303	Emergency Medical Service	(Dept)	2	11.8%	2	0	0	0%	0	2	176.50	353.00		353.00	0.3%
20	3	Fire	(Sub-Loc)	10	58.8%	6	2	2	20%	2	8	8,503.14	47,629.91	37,401.48	85,031.39	64.6%
20	700	Patrol	(Dept)	4	23.5%	1	3	0	0%	0	4	475.86	1,903.43		1,903.43	1.4%
20	7	Police	(Sub-Loc)	4	23.5%	1	3	0	0%	0	4	475.86	1,903.43		1,903.43	1.4%
20	803	Equipment & Supply	(Dept)	1	5.9%	0	0	1	100%	1	0	42,147.50	37,104.83	5,042.67	42,147.50	32.0%
20	8	Public Works	(Sub-Loc)	1	5.9%	0	0	1	100%	1	0	42,147.50	37,104.83	5,042.67	42,147.50	32.0%
20	01	Village of Hoffman Estates	(Loc)	17	100.0%	8	6	3	18%	4	13	7,737.30	86,638.17	44,895.96	131,534.13	100.0%
		Totals for 202	20 Claims:	17	100.0%	8	6	3	18%	4	13	7,737.30	86,638.17	44,895.96	131,534.13	100.0%
	250	Village of Hoffman Estates			884	585	147	152		20	864	14,554.94	12,116,038.41	750,524.25	12,866,562.66	

Open Medical: 0

Open Comp: 3

Open Legal: 17

VILLAGE OF HOFFMAN ESTATES

Memo

TO: GAP Committee

FROM: Jennifer Djordjevic, Director of Operations/Outreach – Office of the Mayor and Board

RE: Community Engagement Report

PERIOD: October 9 – November 1

General administration: The Mayor's office regularly receives invitations to events, mail or email correspondence regarding a variety of issues, responses which need to be coordinated with VM and department heads, and requests for legislative response depending on the issue. The Office also receives phone, email and written requests to meet with officials and staff on various projects or other issues; meetings which are organized through me. These are on-going functions. I typically attend meetings that involve community organizations or other areas of similar interest.

Administrative, Travel and Legislative issues:

- Attended and took committee meeting minutes October
- Processed expenses for October credit card statements
- Set up several budget meetings for the Board (Sept/Oct)
- Completed budget narratives for the budget
- Completed all minutes for committee meetings attended

PARTNERSHIPS and SPECIAL PROJECTS

- The Village Manager interview process has been significant. I have continued to coordinate efforts with the Board and consultant on this extensive process.
- Coordination of Butterfly Garden / CAC / Schaumburg/Hoffman Estates Rotary film project featuring a proclamation on National Suicide Awareness co-signed by Schaumburg Mayor Tom Dailly and Mayor McLeod. (10/9) Special thanks to Ric Signorella for his excellent work.

WRITTEN COMMUNICATIONS

- November Mayor's Column / Citizen
- Completed the Mayor's Welcome letter for the Chamber Guide
- Proclamations:

National Alzheimer's Disease Awareness Month America Recycles Day

EAGLE COURT OF HONORS and EAGLE PROCLAMTIONS

Jayson Romsaithong – 11/1

ON-GOING INITIATIVES

Census Activities:

The Census grants have wrapped up with Cook County and the Metro Mayor's Caucus. Enumerators finished their activities on September 30th. A push continues through October. Final Self-Response rates (82%) from the Village:

Final report for the Metro Mayor's Caucus Grant completed (attached.)

Virtual Town Hall Meetings:



The next VTH meeting is slated for 11/10/20 and will feature partners focused on Senior Services. The following partners have been secured:

- Katie Collins / Alden Poplar Creek Hoffman Estates
- Anna Newell (or other designated representative) / Schaumburg Township
- Marina Lvovich / Schaumburg Barn
- Kyle Smith / Metro Mayors Caucus (Age-Friendly Communities Collaborative)
- Renee Anderson / Schaumburg Township District Library
- Lillian Clinton / Hoffman Estates Commission for Senior Citizens

MEETINGS and WEBINARS either scheduled and/or attended

Assigned Holiday Express Ribbon Cutting - 10/14

Winter Ideas Discusson (NOW Arena) - 10/15

Arranged VM interviews - 10/16 - 10/18

Basketball Hall of Fame to calendar – 10/17

Park District Village Discussion - 10/19

Attended HEC Zoom Call - 10/19

CARES Funding Discussion – 10/19

Completed TIS Portal for Mayor McLeod / National League of Cities – 10/20

Attended Management Team Meeting - 10/20

Arranged VM interviews – 10/21 – 10/24

CARES Funding Discussion at Crespo's Office – 10/26

Attended committee meetings – 10/26

Michael Calendo Visitation – 10/27

Preckwinkle and Senator Laura Murphy Zoom updates - 10/27

National COVID Briefing - 10/28

High Voltage Discussion - 10/28

Congressman Krishnamoorthi Roundtable - 10/29

Attended Emergency Regional Teleconference - 10/29

Schaumburg Township Trunk or Treat - 10/29

Arranged VM interviews - 10/30

Mariano's Gas Station discussion – 10/30

Jaydon Romsaithong Eagle Court of Honor

Assigned Mayor's PACE meetings as needed.

Jennifer Djordjevic

Dir. Of Operations and Outreach / Office of the Mayor and Board